
MFA034 - J Channel

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/12/2018

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 

 

*

J Channel

Metafor Panel

#10 x 1" Wafer Head Screw

Plywood Substrate

Metafor Starting Endwall Soffit Detail

1 3/4"

3/4"

7/8"

1/4" C.H.



MFA034 - J Channel

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/12/2018

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 

 

*

Metafor Panel

J Channel

Plywood Substrate

#10 x 1" Wafer Head Screw

Metafor Endwall Soffit Detail

1/4" C.H.

7/8"

3/4"

1 3/4"



MFA681 - Support Z

 

MFA034 - J Channel

 

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/12/2018

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 

 

*

J Channel

Plywood Substrate

Metafor Ending Endwall Soffit Assembly

1 3/4"

3/4"

7/8"

1/4" C.H.

3/4"

1/2"

3/4"

#10 x 1" Wafer Head Screw

S.S. Painted Pop Rivets

Support Z

Metafor Panel



DETAIL  A

DETAIL  B

A

B

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/27/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Metafor Panel Detail

 

 

DAS 7/27/16

*

12"

5/8"

3"

1 1/2"

Note: * denotes color side.

Field Pre-Punched Fasteners Slots

(for longer lengths of panels)

5/8"

1/8"



Metafor Splice Plate

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

11/21/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Metafor Splice Detail

 

 

*

Splice Plate 

#10 x 1" Wafer Head Screw

(attach on one side of splice

only to allow for thermal expansion

and contraction of panel)

1/8" - 1/4" Gap




